Solving Quadratic Equations by Factoring
 A quadratic function is a function that can be written in the form

y = ax2 + bx + c, where a
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0  (Why???????)  

This is called the standard form of a quadratic function.  2x2 – 6x – 7 = 0 is an example of a quadratic equation written in standard form.
Key → 1. Make sure the equation is equal to zero


 2. Factor


 3. Set each factor equal to zero and solve.  How do we know we can do this? 
Solve by factoring:
1. x2 – 3x + 2 = 0






Graph: y = x2 – 3x + 2
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What do you notice? _________________________________________

2. x2 – 8x + 12 = 0






Graph:  y = x2 – 8x +12

3. x2 – 49 = 0







Graph: x2 – 49 = y



4. 2x2 – 5x + 2 = 0






Graph: y = 2x2 – 5x + 2


5. x2 + 2x = 15






6. 4x2 + 3x = 10

How do each of these solutions above relate to the graph of the corresponding quadratic function?

7. 5b2 + 34b = 7





8. a2 – 13a = -42

9. x2 = 81






10. p2 = 5p + 5
11. 8r2 + 3r + 2 = 7r2





12.  10n2 – 35 = 65n
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